00160000000000(0D0)oo0oo0O0OOO0

000000000 0(0,0),0 A(1,0), 0 B(0,1) 0000000020 Pi(cos,sinh), Py(cos 26, sin 26)
DDDDDDDDO§9§%}DDDD&D9>ODDDAAHODDDDO:ODDDODDDDD

1
DD&Dﬂ<A}DDDAB&ODDDDGz%}DDDODDDDSzSﬁhg&DDDDDDD

00000000000
(1)S0Osinf0000
(%ogeg%}DDDDSDDDDDDDDDDDDD

(2|00 2=10e200<y<400002000<2<1000000y00000000000000
0000000200 0<2<100000y00000000000000000000000000
000000000000000000000000000000000000¢+000000000
At)D000AO0)=000000000 () =4000+¢0 T(0)000000000000000
000
()TOOO0DDO
(200<t<TO0000AHOOODOD
(3)0<t<TO0000000D000 K()00000

DDDDDDDDDDDD ABCOUOOODO BCOOUOO MODOOOO ABOOOA,BOOOOOP
DDDDDDAMDDDCPDDDDQDDDDE): B, k:|ﬁ|DDDDDDDDDDD
O0oooogg
(1)AQ, PQO a, b, k0000
(2)|AQ), PG| 0 kDODODO
(3) AAPQUUOODODODODDODODDEODODOO

[4]o, p0000000000000OOND o, 4000000000 A, BOOOOOOOOODOD
0oooooo
()000 20 |2|=|2—-100000002+2=1000000000
Z— zZ—Q
z—=p z—=p
(3)00 ABOOOOODOOOAOODODOOOOD 28—-o/00000000000000q, 80000

(2)000 20 |z—a|=|z—4/000000 —4DDDDDDDDD

[5le >000000000000 y=f(z)=2(1+loge) 0000 CODDOOO0O0O0 COOO
(t,f(1)00D0D0 COO00I00000 y=¢(x)000000000000000000
(1)g(x)00000
(2)x>000000f(z) = f(z) 000000000
(3)000 z=1,2=2000 CO00000!0000000000 8S¢)00000
(49t0+¢+>000000000000 S(¢)000000+¢+00000

2 2 0 1
4>,B:< 3>DDDDDDDDDDDDDDDDDDD

[jmeDDDDDDDf&BDA:<
a
(1)A+BOOOO (A+B)-'00000000D0

(2)(A+B)"'0000000000000000A-BOODO (A-B)-'00000O00O0

(3)(A+B)"'0 (A-B)"'0000000000000000 000 (e,b)00000000



